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FORTRAN PL/1
DO 10 I=1,10000 L: DO I=1 TO 10000 ;
READ* X GET LIST(X) .

IF (X.GT.MAX) MAX=X
10 CONTINUE

IF X>MAX THEN MAX =X ;
END L ;

BASIC

COBOL

10 FOR I=1 TO 10000

20 INPUT X

30 IF X>MAX THEN MAX=X
40 NEXT I

PROCEDURE DIVISION.

L ACCEPT X.
IF X> MAX MOVE X TO MAX.
GO TO L.

C APL
for(i=1,;i<=10000; i+ +){ X<3117510497146
scanf ("%d”, &x) [/X
if (x>max) max=x;
}
PASCAL LIS

for i :=1 to 10000 do
begin read (x) ;

if x>max then max :=x
end ;

(defun what-day(day) (cond
((member day "(H kX /&K K 4))
"SEH) ((member day *(+ H))
HE) (T —)))

ALGOL

PROLOG

for i :=1 until 10000 do
begin ininteger (x)

if x>max then max :=x
end ;

human (Socrates) .
mortal (X) -human(X) .




073 LDERNRITET

aAINAD
FRJ 5 LTFRE |
7 ')
program example(output); + j/J

var i, sum : integer
begin

sum = 0;
fori:=11o 100 do
+|;

writeln(sum)
end.

main:
.globl PASCALMAIN

type PASCALMAIN,@function

PASCALMAIN:
.globl program_init

type program_init,@function

program_init:

L7:

pushl
movl

%ebp

%esp,%ebp

subl $4,%esp

call FPC_INITIALIZEUNITS
movw $0, SUM

movw  $1, |

.balign 4,144

movswl _SUM,%eax
movswl! _|,%edx
addl %eax,%edx
movw  %dx, SUM
cmpw  $100,_|

joe .L6

incw |

jmp L7

j\

4157f 464c 0101 0001 0000 0000 0000 000C
002 0003 0001 0000 8080 0804 0034 000!
p43c 0000 0000 0000 0034 0020 0002 002
005 0004 0001 0000 0000 0000 8000 080+
3000 0804 ab00 0000 ab00 0000 0005 000!

1000 0000 0001 0000 b0O0OO 0000 3000 080:
3000 0805 0420 0000 0e00 0004 0006 00O
1000 0000 0000 0000 0000 0000 0000 000f

8959 89e3 40c8 e0c1 0102 83e0 f8e4 f8a3
D53d 8908 3c0d 0534 8908 481d 0534 9bO:
23db d99b 002d 0530 3108 e8ed a9d0 000

D000 0000 000b 0000 0001 0000 0006 00O
3080 0804 0080 0000 aa80 0000 0000 00O
D000 0000 0010 0000 0000 0000 0011 00O
D001 0000 0003 0000 3000 0805 bOOO OO0
D420 0000 0000 0000 0000 0000 0004 000
D000 0000 0017 0000 0008 0000 0003 00O

3420 0805 b420 0000 09e0 0004 0000 00O

D000 0000 0010 0000 0000 0000 0001 00O

D003 0000 0000 0000 0000 0000 b420 000

)01c 0000 0000 0000 0000 0000 0001 00O
0000 0000




70755 L% (Loop)
s 1MB100EXETHOFERHDTOT S L,

program example(output);

var i, sum : integer;

begin
sum = 0; #REEkmy R0t
fori:=1to 100 do AR

sSUm ‘= sum +|, i=100F CTHEYIR T

writeln(sum) ssszamim

end.
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[ start }

sum:=0: i:=1 program example(output);
| var i, sum : integer,
yes :
» begin
no sum = 0;
sum:=sum-+i fori:=11to 100 do
: sum := sum +i:
il writeln(sum)
end.

v
writeln(sum)

TR




70535 LDOFI(If 3X)
BABERDHZTOTS L,

program example(input,output);

var i, X, max: integer;

begin
X = 0;: max :=0; #REEMIIEROUNHIE
fori:=1to 10 do

begin
read(x); ARSNF=BIEZXIZIB8INT S

If X > max then max := x sxEoE#
end;
writeln('maximum="'max) #fz@E&EcH 7
end.



7075 LOFI(BUEETE)

program Newton (output) ;
var x, x1 :real ;
begin
x .=1.0,
repeat
xl ==x,;
X =(2.0/3.0) * (x1+1.0/sqr(x1))
until abs(x—x1) <1.0e-11:
writeln ("cubic root of 2=",x)
end.

x12Zx&R L TLVS
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£(x)=x" —20x = xrorrorrxg(X) £rns

g(x)=f(x)x—x)+f(x) "
=3x"(x—x)+x’ -2
=3x x—2x> -2

BRAX BETDBEL,
g(x)=3x"x-2x"-2=0

AN
2 1

fx)=x =2
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o ARGRAI P={
X—-SV, X—-SVC, X—-SV0O, X—-SVOC,
A—“the”, A— “a”,
S—AN, S—N, O—AN, O—N,
N—“girl”, N—"boy”, N—"dog”,
V—-“saw”,V—“runs”,V—“bites”,V— “seems”
C—"“running”, C—"“sick”}

« HEFEE S=X

- JEImEZE N={A,S,N,V,0,C,xX}

- #Rimic® T= {“a”, “the”, “girl”, “boy”, “dog”,

J) 11 ” (13 ” 13 ” 11

“saw’, “runs”, “bites”, “seems”, “running”,
“sick”}

NI RSE=EDLLTE
the girl saw a dog running
the dog runs

AT A

A N

the qgirl saw a dog running

the dog bites a girl
the boy seems sick
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